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Logical Reasoning Questions for CLAT Exam.

CLAT Reasoning Quiz 41

Directions: Read the questions carefully and choose the right answer.

1. Find the odd one out which does not share that common characteristic with the other
three.

A. Violin B. Sitar C. Flute D. Guitar

2. Find the missing term in each of the following series

AH, DL, GP, JT, ?

A. MY B. NX C. MX D. NY

3. In the following question select the related word from the given alternatives.
Paper: Tree : : Glass : ?

A. Window B. Sand C. Stone D. Mirror

4. In the following question select the related letter from the given alternatives.
BCFG : HILM : : NORQ: ?

A. TUXW B. TVWX C. TXMU D. TXUW

5. If JAPAN is coded as KCSES, then the code for CASTLE will be

A.DlOB B. DJKRD C. DKMSG D. DCVXQK

6. If Akshay is the brother of the son of Sunil's son, then what relationship is there
between Akshay and Sunil?

A. Nephew B. Brother C. Cousin D. Grandson

1. A man coming out of the backdoor of his house which is facing East, walked for one
kilometer, turned to his right and walked for another kilometer. Then he turned to his
right and walked a kilometer again. Where was he from his house at the end?

A. East B. West C. North D. South

8. If the time in a clock is 8 hours 20 minutes, then what time does it show on the
mirror?

A. 3 hours 40 minutes B. 2 hours 10 minutes C. 3 hours 15 minutes D. 2 hours 50 minutes




9. If a year starts and ends on Monday, then how many Mondays are there in that year?

A.52 B.53 C.51 D.50

10. In arow of 70 students, Ram is 23rd from the front end and Komal is 38th from the
back end. What is the position of a student from the front who is standing exactly
between Ram and Komal?

A. 30% B. 25™ C. 28" D. 27"

Correct Answers:

Explanations :

1. Except Flute, the other three musical instruments have strings.

Hence, option Cis correct.

2. Pattern of the given series

f v v v v
AH DL GP JT MX
R S S S
+3 +3 +3
Hence, option Cis correct.
3. Paper is made by trees. Similarly, glass is made by sand.

Hence, option B is correct.




Similarly

NORQ-—TU

A X

| +

=3
+6

+6

W
A

Hence, option A is correct.

First letter is coded as next letter. Second letter is coded as second next letter. Third letter is coded as
third next letter and so on.

C H"D

ASc

sy

T x

L-2Q

E-5K

Hence, option D is correct.

Akshay is brother of son of Sunil's son it means Akshay is brother Sunil's grandson. So Akshay is also
grandson of Sunil. As you can see below in the figure.

[ 1—Couple
{  }-Siblings
+ =+ Male

- —+Female

Sunil

'

Son

.

{ Akshay' Son'}

Hence, option B is correct.




10.

1 km
=
1 km Back door
1 km l"*l

L+

1
Front door

He is 1 km away in North.

Hence, option C is correct.

The time shown by the clock, when seen in the mirror
=12 hours — 8 hours 20 minutes
= 3 hours 40 minutes

Hence, option A is correct

As the given year starts and ends with Monday means the next year will start with Tuesday. Hence, the

given year is a non - leap year.
There will be 53 Mondays in the year

Hence, option B is correct.

Position of Komal from front end = 70 — 38 + 1 = 33. Hence, rank of student standing exactly between

Ram and Komal is 28"

Hence, option C is correct.
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